
Math  1432    
Exam  3  Review  KEY  
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2. Write  an  expression  for  the  nth  term  of  the  sequence:  
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3. Determine  if  the  following  sequences  are  monotonic.    Also  indicate  if  the  sequence  is  bounded  
and  if  it  is  give  the  least  upper  bound  and/or  greatest  lower  bound.  
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4. Determine  if  the  following  sequences  converge  or  diverge.    If  they  converge,  give  the  limit.  
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5. Determine	
  the	
  values	
  of	
  n	
  which	
  guarantee	
  a	
  theoretical	
  error	
  less	
  than	
  ε	
  if	
  the	
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  rule	
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**	
  Also	
  have	
  a	
  general	
  understanding	
  of	
  the	
  different	
  methods	
  described	
  in	
  section	
  8.5	
  

	
  

6.  The  series   4 − 3+ 9
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+ ...   is  a  geometric  series.    Find  the  general  term,   an ,  and  write  the  sum  
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7. Find  the  sum  of  the  following  (if  possible):  
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8. Determine  whether  the  given  series  converges  or  diverges;  state  which  test  you  are  using  to  
determine  convergence/divergence  and  show  all  work.  
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